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Coin identification and evaluation
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The price of an item is $0.73 and you pay $1.00. Your change would be $0.27.

Possible combinations of coins for $0.27:
1 quarter and 2 pennies
2 dimes, 1 nickel, and 2 pennies
1 dime, 3 nickels, and 2 pennies
5 nickels and 2 pennies

The price is: Change from Any combination
$1.00: of coins:

1. $0.47 $1.00
—047 $0.53

I half dollar and 3 pennies

$0.53

2. $0.66 =

3. $0.31 =

4. $0.61 =

5. $0.15 =

6. $0.94 =

7. $0.42 =

8. $0.23 =

9. $0.04 =

Making change from $1.00



The price is: Change from Least number of
$1.00: coins possible:

1. $0.76 $0.24 - 2 dimes and 4 pennies

2. $0.19 =

3. $0.09 =

4.%$0. 0 _ =

5. $0.34 =

6. $0.45 =

7. $0.35 _ =

8. $0.93 =

9. $0.61 =

10. $0.7 =

11. $0.24 =

12. $0.56 _ =




The price is:

1. $1.70

2. $1.37

3. $1.60

4. $1.65

5. $1.53

6. $1.14

7. $1.02

8. $1.54

9. $1.97

10. $1.77

11.$1. 5

12. $1.44

Change from
$2.00:
$2.00
—1.70 $0.30
$0.30

Least number of
coins possible:

I quarter and 1 nickel






